



ON HERMITE-HADAMARD-TYPE INEQUALITIES FOR STRONGLY-LOG CONVEX STOCHASTIC PROCESSES

Muharrem TOMAR¹, Erhan SET², Nurgül Okur BEKAR³

¹Department of Mathematics, Faculty of Science and Arts, Ordu University, 52200 Ordu, Turkey muharremtomar@gmail.com
 ²Department of Mathematics, Faculty of Science and Arts, Ordu University, 52200 Ordu, Turkey erhanset@yahoo.com
 ³Department of Statistics, Faculty of Science and Arts, Giresun University, Giresun, Turkey nrgokur@giresun.edu.tr

ABSTRACT

In the present the work we introduce strongly logarithmic convex stochastic processes. Also, we obtain Hermite-Hadamard type integral inequalities for these processes.

ÖZET

Bu çalışmada, güçlü logaritmik konveks stokastik süreci tanıtılmaktadır. Ayrıca, bu aüreçler için Hermite-Hadamard tipi integral eşitsizliklerini elde edilmektedir.

Keywords: Hermite-Hadamar'd inequalities, strongly convex with modulus c > 0, log-convex function, stochastic process

Anahtar Kelimeler: Hermite-Hadamard eşitsizliği, c > 0 modüllü güçlü konveks, log-konveks fonksiyon, skotastik süreç.

AMS Classification. [2000] 05C38, 15A15, 26D15, 26A51

1. INTRODUCTION

In recent years, inequalities are playing a very significant role in all fields of mathematics, and present a very active and attractive field of research. One of the significant inequalities is well known the Hermite-Hadamard integral inequility.

A function $f: I \to \mathbb{R}$, where $I \subseteq \mathbb{R}$ is an interval, is said to be a convex function on I if the inequality

$$f(tx + (1-t)y) \le tf(x) + (1-t)f(y)$$
(1)

holds for all $x, y \in I$ and $t \in [0,1]$. If the reversed inequality in (1) holds, then f is concave. For some recent results related to this classic result, see the books [3, 4, 5, 6] and the papers [14, 15, 16, 17, 18, 19, 20, 21] where further references are given.

Let $f: I \subseteq \mathbb{R} \to \mathbb{R}$ be a convex function defined on the interval I of real numbers and a < b. The following double inequality

$$f\left(\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_{a}^{b} f(x) dx \le \frac{f(a)+f(b)}{2}$$

$$\tag{2}$$

is well known in the literature as Hadamard's inequality. Both inequalities hold in the reversed direction if f is concave.

Recently, log-convex functions have gained much interest in mathematics and its sub-areas such as optimization theory. A function $f: I \rightarrow (0, \infty)$ is said to be *log*-convex (or multiplicatively convex) if log(f) is convex or namely the following inequality

$$f(tx + (1-t)y) \le f(x)]^{t} [f(y)]^{(1-t)}$$
(3)

holds for all $x, y \in I$ and $t \in [0,1]$. Moreover, any *log*-convex function is a convex function since the inequality

$$f(x)]^{t}[f(y)]^{(1-t)} \le tf(x) + (1-t)f(y)$$
(4)

holds for all $x, y \in I$ and $t \in [0,1]$. (Pecaric, 1992)

Recall that a function $f: I \rightarrow \mathbb{R}$ is called strongly convex with modulus c > 0, if

$$f(tx+(1-t)y) \le tf(x)+(1-t)f(y)-ct(1-t)(x-y)^{2}$$

for all $x, y \in I$ and $t \in (0,1)$. (Polyak, 1966)

Recall also that a function $f: I \to (0,\infty)$ is called strongly log-convex function with modulus c > 0 if

$$f(tx+(1-t)y) \le f(x)]^{t} [f(y)]^{(1-t)} - ct(1-t)(x-y)^{2}$$

for all $x, y \in I$ and $t \in (0,1)$. (Sarikaya, 2014)

2 PRELEMINARIES

Let (Ω, P) be an arbitrary probability space. A function $X: \Omega \to \mathbb{R}$ is called a random variable if it is measurable. Let (Ω, P) be an arbitrary probability space and let $T \subset \mathbb{R}$ be time. A collection of random variables X(t,w), $t \in T$ with values in \mathbb{R} is called a stochastic process. If X(t,w) takes values in $S = \mathbb{R}^d$, it is called a vector-valued stochastic process. If the time T can be a discrete subset of \mathbb{R} , then X(t,w) is called a discrete time stochastic process. If time is an interval, \mathbb{R}^+ or \mathbb{R} , it is called a stochastic process with constinuous time. For any fixed $\omega \in \Omega$, one can regard X(t,w) as a function of t. It is called a sample function of the stochastic process. In the case of a vector valued process, it is a sample path, a curve in \mathbb{R}^d . Throughout the paper, we restrict our attention stochastic processes with continuous time, i.e., index set $T = [0,\infty)$.

Let (Ω, A, P) be a probability space and $T \subset \mathbb{R}$ be an interval. We say that a stochastic process $X: T \times \Omega \rightarrow \mathbb{R}$ is *convex if*

$$X(\lambda u + (1-\lambda)v, \cdot) \leq \lambda X(u, \cdot) + (1-\lambda)X(v, \cdot)$$

for all $u, v \in T$ and $\lambda \in [0,1]$. This class of stochastic process are denoted by C.[13]

Let (Ω, A, P) be a probability space and $T \subset \mathbb{R}$ be an interval. We say that a stochastic process $X: T \times \Omega \rightarrow [0, \infty)$ is log - convex if

$$X(\lambda u + (1 - \lambda)v, \cdot) \leq [X(u, \cdot)]^{\lambda} [X(v, \cdot)]^{1 - \lambda}$$
(5)

for all $u, v \in T$ and $\lambda \in [0,1]$. log – convex stochastic processes have been introduced by Tomar et al. in (Tomar, 2014) and they proved following theorem in this article.

Let us denote by A(a,b) the aritmetic mean of the nonnegative real numbers, and by G(a,b) the geometric mean of the same numbers.

Theorem 1 Let $X: T \times \Omega \rightarrow (0, \infty)$ be a log-convex stochastic process on $T \times \Omega$ and $u, v \in T$ with u < v. Then, one has the inequalities:

$$X\left(\frac{u+v}{2},\cdot\right) \leq \exp\left[\frac{1}{v-u}\int_{u}^{v}\ln\left[X\left(t,\cdot\right)\right]dt\right]$$

$$\leq \frac{1}{v-u}\int_{u}^{v}G\left(X\left(t,\cdot\right), X\left(u+v-t,\cdot\right)\right)dt$$

$$\leq \frac{1}{v-u}\int_{u}^{v}X\left(t,\cdot\right)dt$$

$$\leq L\left(X\left(u,\cdot\right), X\left(v,\cdot\right)\right),$$
(6)

where L(p,q) is the logarithmic mean of strictly positive real numbers p,q, i.e.,

$$L(p,q) = \frac{p-q}{\ln p - \ln q}$$
 if $p \neq q$ and $L(p,p) = p$

Also, note that the related results for convex stochastic processes and various types of convex stochastic processes can be seen in (Skowronski, 1995), (Skowronski, 1995), (Nikodem, 1980), (Bekar, 2014,) (Maden, 2014), (Set, 2014), (Kotrys, 2014).

The main subject of this paper is to introduce strongly-log-convex stochastic processes with modulus c > 0 and to give Hermite-Hadamard type inequalities for these processes, such as in (6).

3 HERMITE-HADAMAD TYPE INEQUALITIES FOR STRONGLY LOG-CONVEX STOCHASTIC PROCESSES

Definition 1 Let (Ω, A, P) be a probability space and $T \subset \mathbb{R}$ be an interval. We say that a stochastic process $X: T \times \Omega \rightarrow [0, \infty)$ is strongly log – convex with modulus c > 0 if

$$X\left(\lambda u + (1-\lambda)v, \cdot\right) \leq \left[X\left(u, \cdot\right)\right]^{\lambda} \left[X\left(v, \cdot\right)\right]^{1-\lambda} - c\lambda(1-\lambda)(v-u)^{2}$$

$$\tag{7}$$

for all $u, v \in T$ and $\lambda \in (0,1)$.

The following result offers the Hermite-Hadamard type inequalities for strongly log-convex stochastic process.

Theorem 2 If a stochastic process $X: T \times \Omega \rightarrow (0, \infty)$ be a strongly log - convex with modulus c > 0 and integrable on $T \times \Omega$, we have

$$X\left(\frac{u+v}{2},\cdot\right)+c\frac{(v-u)^{2}}{12}$$

$$\leq \frac{1}{v-u}\int_{u}^{v}G\left(X\left(t,\cdot\right),X\left(u+v-t,\cdot\right)\right)dt$$

$$\leq \frac{1}{v-u}\int_{u}^{v}X\left(t,\cdot\right)dt$$

$$\leq L\left(X\left(u,\cdot\right),X\left(v,\cdot\right)\right)-c\frac{\left(v-u\right)^{2}}{6}$$

$$\leq A(X\left(u,\cdot\right),X\left(v,\cdot\right))-c\frac{\left(v-u\right)^{2}}{6}$$
(8)

for all $u, v \in I$ with u < v.

Proof. From (7) and aritmatic-geometric mean, we have

$$X(\alpha s + (1-\alpha)z, \cdot) \leq [X(s, \cdot)]^{\alpha} [X(z, \cdot)]^{1-\alpha} - c\alpha(1-\alpha)(v-u)^{2}$$

$$\leq \alpha X(s, \cdot) + (1-\alpha)X(z, \cdot) - c\alpha(1-\alpha)(v-u)^{2}.$$
(9)

If we take $\alpha = \frac{1}{2}$ in (9), we have

$$X\left(\frac{s+z}{2},\cdot\right) \leq \sqrt{X\left(s,\cdot\right)X\left(z,\cdot\right)} - c\frac{(z-s)^2}{4}$$

$$\leq \frac{X\left(s,\cdot\right) + X\left(z,\cdot\right)}{2} - c\frac{(z-s)^2}{4}.$$
(10)

i.e., $s = \lambda u + (1 - \lambda)v, z = (1 - \lambda)u + \lambda v,$

$$X\left(\frac{u+v}{2},\cdot\right)$$

$$\leq \sqrt{X\left(\lambda u+(1-\lambda)v,\cdot\right)X\left((1-\lambda)u+\lambda v,\cdot\right)} - c\frac{(v-u)^2(1-2\lambda)^2}{4}$$

$$\leq \frac{X\left(\lambda u+(1-\lambda)v,\cdot\right)+X\left((1-\lambda)u+\lambda v,\cdot\right)}{2} - c\frac{(v-u)^2(1-2\lambda)^2}{4}.$$
(11)

Integrating the inequality (11) on (0,1) over λ , and taking into account,

$$\int_{0}^{1} X \left(\lambda u + (1 - \lambda) v, \cdot \right) d\lambda = \int_{0}^{1} X \left((1 - \lambda) u + \lambda v, \cdot \right) d\lambda$$

we obtain

$$X\left(\frac{u+v}{2},\cdot\right) \leq \frac{1}{v-u} \int_{u}^{v} G\left(X\left(t,\cdot\right), X\left(u+v-t,\cdot\right)\right) dt - c \frac{\left(v-u\right)^{2}}{12}$$

$$\leq \frac{1}{v-u} \int_{u}^{v} A\left(X\left(t,\cdot\right), X\left(u+v-t,\cdot\right)\right) dt - c \frac{\left(v-u\right)^{2}}{12}.$$

$$(12)$$

And so,

$$X\left(\frac{u+v}{2},\cdot\right) + c\frac{(v-u)^{2}}{12}$$

$$\leq \frac{1}{v-u} \int_{u}^{v} G\left(X\left(t,\cdot\right), X\left(u+v-t,\cdot\right)\right) dt$$

$$\leq \frac{1}{v-u} \int_{u}^{v} X\left(t,\cdot\right) dt.$$
(13)

Since X is a strongly log – convex function on $T \times \Omega$, for s = u and z = v, we get

$$X \left(\lambda u + (1 - \lambda) v, \cdot \right) \leq \left[X \left(u, \cdot \right) \right]^{\lambda} \left[X \left(v, \cdot \right) \right]^{1 - \lambda} - c \lambda (1 - \lambda) (v - u)^{2}$$

$$\leq \lambda X \left(u, \cdot \right) + (1 - \lambda) X \left(v, \cdot \right) - c \lambda (1 - \lambda) (v - u)^{2}.$$
(14)

Integrating the inequality (14) on (0,1) over λ ,

$$\begin{split} &\frac{1}{v-u}\int_{u}^{v}X\left(t,\cdot\right)dt \leq X\left(v,\cdot\right)\int_{0}^{1}\left[\frac{X\left(u,\cdot\right)}{X\left(v,\cdot\right)}\right]^{\lambda}d\lambda - c(v-u)^{2}\int_{0}^{1}\lambda(1-\lambda)d\lambda \\ &\leq X\left(u,\cdot\right)\int_{0}^{1}\lambda d\lambda + X\left(v,\cdot\right)\int_{0}^{1}(1-\lambda)d\lambda - c(v-u)^{2}\int_{0}^{1}\lambda(1-\lambda)d\lambda, \end{split}$$

and thereby

$$\frac{1}{v-u} \int_{u}^{v} X(t, \cdot) dt$$

$$\leq L(X(u, \cdot), X(v, \cdot)) - c \frac{(v-u)^{2}}{6}$$

$$\leq A(X(u, \cdot), X(v, \cdot)) - c \frac{(v-u)^{2}}{6}$$
(15)

So, from (13) and (15), the theorem is proved.

Theorem 3 If a stochastic process $X: T \times \Omega \rightarrow (0, \infty)$ be a strongly $\log - \operatorname{convex} with modulus \ c > 0$ and integrable on $T \times \Omega$, we have

$$\frac{1}{v-u} \int_{u}^{v} X(t,\cdot) X(u+v-t,\cdot) dt \tag{16}$$

$$\leq X(u,\cdot) X(v,\cdot) + \frac{c^{2}(v-u)^{4}}{30} - \frac{4c(v-u)^{2}}{\ln[X(u,\cdot-X(v,\cdot))]^{2}} \Big[A(X(u,\cdot),X(v,\cdot)) + L(X(u,\cdot),X(v,\cdot)) \Big] \\
\leq \frac{2[A(X(u,\cdot),X(v,\cdot))]^{2} + [G(X(u,\cdot),X(v,\cdot)]^{2}}{3} - \frac{cA(X(u,\cdot),X(v,\cdot))(v-u)^{2}}{3} + \frac{c^{2}(v-u)^{4}}{30} + \frac{c^{2}(v-u)^{4}}{30}$$

for all $u, v \in I$ with u < v.

Proof. Since X is strongly log-convex stochastic process with modulus c > 0, we have that for all $\lambda \in (0,1)$ $X \left(\lambda u + (1 - \lambda) v, \cdot \right) \leq \left[X \left(u, \cdot \right) \right]^{\lambda} \left[X \left(v, \cdot \right) \right]^{1 - \lambda} - c\lambda (1 - \lambda) (v - u)^{2}$ $\leq \lambda X \left(u, \cdot \right) + (1 - \lambda) X \left(v, \cdot \right) - c\lambda (1 - \lambda) (v - u)^{2}$ (17)

and

$$X((1-\lambda)u+\lambda v,\cdot) \leq [X(u,\cdot)]^{1-\lambda} [X(v,\cdot)]^{\lambda} - c\lambda(1-\lambda)(v-u)^{2}$$

$$\leq (1-\lambda)X(u,\cdot) + \lambda X(v,\cdot) - c\lambda(1-\lambda)(v-u)^{2}$$
(18)

Multiplying both sides of (17) by (18), it follows that

$$X \left(\lambda u + (1 - \lambda)v, \cdot \right) X \left((1 - \lambda)u + \lambda v, \cdot \right)$$

$$\leq X \left(u, \cdot \right) X \left(v, \cdot \right) + c^{2} \lambda^{2} (1 - \lambda)^{2} (v - u)^{4}$$

$$-c \lambda (1 - \lambda) (v - u)^{2} \left(X \left(v, \cdot \right) \left[\frac{X \left(u, \cdot \right)}{X \left(v, \cdot \right)} \right]^{\lambda} + X \left(u, \cdot \right) \left[\frac{X \left(v, \cdot \right)}{X \left(u, \cdot \right)} \right]^{\lambda} \right)$$

$$\leq \lambda (1 - \lambda) \left(\left[X \left(u, \cdot \right) \right]^{2} + \left[X \left(v, \cdot \right) \right]^{2} \right) + \lambda^{2} (1 - \lambda)^{2} X \left(u, \cdot \right) X \left(v, \cdot \right)$$

$$-c (v - u)^{2} \lambda (1 - \lambda) \left[X \left(u, \cdot \right) + X \left(v, \cdot \right) \right] + c^{2} \lambda^{2} (1 - \lambda)^{2} (v - u)^{4}$$

$$(19)$$

Integrating the inequality (19) with respect to λ over (0,1) and , we obtain

$$\int_{0}^{1} X\left(\lambda u + (1-\lambda)v, \cdot\right) X\left((1-\lambda)u + \lambda v, \cdot\right) d\lambda$$

$$\leq \int_{0}^{1} X\left(u, \cdot\right) X\left(v, \cdot\right) d\lambda + c^{2}(v-u)^{4} \int_{0}^{1} \lambda^{2}(1-\lambda)^{2} d\lambda$$

$$-c(v-u)^{2} X\left(v, \cdot\right) \int_{0}^{1} \lambda (1-\lambda) \left[\frac{X\left(u, \cdot\right)}{X\left(v, \cdot\right)}\right]^{\lambda} d\lambda$$

$$-c(v-u)^{2} X\left(u, \cdot\right) \int_{0}^{1} \lambda (1-\lambda) \left[\frac{X\left(v, \cdot\right)}{X\left(u, \cdot\right)}\right]^{\lambda} d\lambda$$

$$\leq \left(\left[X\left(u, \cdot\right)\right]^{2} + \left[X\left(v, \cdot\right)\right]^{2}\right) \int_{0}^{1} \lambda (1-\lambda) d\lambda + X\left(u, \cdot\right) X\left(v, \cdot\right) \int_{0}^{1} \lambda^{2} (1-\lambda)^{2} d\lambda$$

$$(20)$$

$$-c(v-u)^{2}\left[X\left(u,\cdot\right)+X\left(v,\cdot\right)\right]\int_{0}^{1}\lambda(1-\lambda)d\lambda+c^{2}(v-u)^{4}\int_{0}^{1}\lambda^{2}(1-\lambda)^{2}d\lambda$$

Integrating by parts for I_1 and I_2 integrals, we obtain

$$I_{1} = \int_{0}^{1} \lambda(1-\lambda) \left[\frac{X(u,\cdot)}{X(v,\cdot)} \right]^{\lambda} d\lambda$$

$$= \lambda(1-\lambda) \frac{1}{\ln\left[\frac{X(u,\cdot)}{X(v,\cdot)}\right]} \left[\frac{X(u,\cdot)}{X(v,\cdot)} \right]^{\lambda} \left|_{0}^{1} - \frac{1}{\ln\left[\frac{X(u,\cdot)}{X(v,\cdot)}\right]^{\alpha}} (1-2\lambda) \left[\frac{X(u,\cdot)}{X(v,\cdot)} \right]^{\lambda} d\lambda$$

$$= -\frac{1}{\ln\left[\frac{X(u,\cdot)}{X(v,\cdot)}\right]} \left[(1-2\lambda) \frac{1}{\ln\left[\frac{X(u,\cdot)}{X(v,\cdot)}\right]} \left[\frac{X(u,\cdot)}{X(v,\cdot)} \right]^{\lambda} \right|_{0}^{1} + \frac{2}{\ln\left[\frac{X(u,\cdot)}{X(v,\cdot)}\right]^{\alpha}} \left[\frac{X(u,\cdot)}{X(v,\cdot)} \right]^{\lambda} d\lambda$$

$$= \frac{1}{X(v,\cdot)} \frac{X(u,\cdot) + X(v,\cdot)}{\left[\ln X(u,\cdot) - \ln X(v,\cdot)\right]^{2}} + \frac{2X(u,\cdot) - 2X(v,\cdot)}{\left[\ln X(u,\cdot) - \ln X(v,\cdot)\right]^{2}}$$

$$(21)$$

and similarly we get,

$$I_{2} = \int_{0}^{1} \lambda (1-\lambda) \left[\frac{X(v,\cdot)}{X(u,\cdot)} \right]^{\lambda} d\lambda$$

$$= \frac{1}{X(u,\cdot)} \frac{X(u,\cdot) + X(v,\cdot)}{\left[\ln X(u,\cdot) - \ln X(v,\cdot) \right]^{2}} + \frac{2X(v,\cdot) - 2X(u,\cdot)}{\left[\ln X(u,\cdot) - \ln X(v,\cdot) \right]^{2}}.$$
(22)

And also we get,

$$\left(\left[X\left(u,\cdot\right) \right]^{2} + \left[X\left(v,\cdot\right) \right]^{2} \right) \int_{0}^{1} \lambda(1-\lambda) d\lambda + X\left(u,\cdot\right) X\left(v,\cdot\right) \int_{0}^{1} \lambda^{2} (1-\lambda)^{2} d\lambda$$

$$- c(v-u)^{2} \left[X\left(u,\cdot\right) + X\left(v,\cdot\right) \right] \int_{0}^{1} \lambda(1-\lambda) d\lambda + c^{2} (v-u)^{4} \int_{0}^{1} \lambda^{2} (1-\lambda)^{2} d\lambda$$

$$= \frac{\left[X\left(u,\cdot\right) \right]^{2} + \left[X\left(v,\cdot\right) \right]^{2}}{6} + \frac{2X\left(u,\cdot\right) X\left(v,\cdot\right)}{3}$$

$$- \frac{c(v-u)^{2} \left[X\left(u,\cdot\right) + X\left(v,\cdot\right) \right]}{6} + \frac{c^{2} (v-u)^{4}}{6}$$

$$= \frac{2 \left[A(X(u,\cdot), X(v,\cdot)) \right]^{2} + \left[G(X(u,\cdot), X(v,\cdot) \right]^{2}}{3}$$

$$- \frac{cA(X(u,\cdot), X(v,\cdot))(v-u)^{2}}{3} + \frac{c^{2} (v-u)^{4}}{30} .$$

$$(23)$$

Putting (21), (22) and (23), and if we change the variable $t := \lambda u + (1 - \lambda)v$, $\lambda \in (0, 1)$, we get the requeired

inequality in (16). This proves the theorem.

REFERENCES

B. T. Polyak, *Existence theorems and convergence of minimizing sequences in extremum problems with restrictions*, Soviet Math. Dokl. Vol. 7. 1966.

J. Pecaric, F. Proschan and Y. L. Tong, *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, Inc., 1992.

S.S. Dragomir, C.E.M. Pearce, *Selected Topics on Hermite–Hadamard Inequalities and Applications*, RGMIA Monographs, Victoria University, 2000.

R.B. Manfrino, R.V. Delgado, J.A.G. Ortega, *Inequalities a Mathematical Olympiad Approach*, Birkhauser, 2009.

D.S. Mitrinovic, J.E. Pecaric, A.M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic Publishers, Dordrecht, 1993.

J.E. Pecaric, F. Proschan, Y.L. Tong, *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, 1991.

D. Kotrys, *Hermite-hadamart inequality for convex stochastic processes*, Aequationes Mathematicae 83 (2012) 143-151.

A. Skowronski, On some properties of J-convex stochastic processes, Aequationes Mathematicae 44 (1992) 249-258.

A. Skowronski, On wright-convex stochastic processes, Annales Mathematicae Silesianne 9 (1995) 29-32.

S.S. Dragomir and B. Mond, Integral inequalities of Hadamard's type for log-convex functions, Demonstratio Math., 31 (2) (1998), 354-364.

S. S. Dragomir, *Refinements of the Hermite-Hadamard integral inequality for log-convex functions*, The Australian Math. Soc. Gazette, 28.3 (2001): 129-133

M. Tunç, *Some integral inequalities for logarithmically convex functions*, Journal of the Egyptian Mathematical Society, Volume 22 (2014), 177-181

K. Nikodem, On convex stochastic processes, Aequationes Mathematicae 20 (1980) 184-197.

S.S. Dragomir, J.E. Pecaric, J. Sandor, A note on the Jensen–Hadamard inequality, Anal. Num. Theor. Approx. 19 (1990) 29–34.

U.S. K rmac, M.E. Özdemir, Some inequalities for mappings whose derivatives are bounded and applications to specials means of real numbers, Appl. Math. Lett. 17 (2004) 641–645.

S.S. Dragomir, B. Mond, *Integral inequalities of Hadamard type for log-convex functions*, Demonstratio Math. 31 (2) (1998) 354–364.

B.G. Pachpatte, *A note on integral inequalities involving two log-convex functions*, Math. Ineq. Appl. 7 (4) (2004) 511–515.

S.S. Dragomir, *Two functions in connection to Hadamard's inequalities*, J. Math. Anal. Appl. 167 (1992) 49–56.

S.S. Dragomir, *Some remarks on Hadamard's inequalities for convex functions*, Extracta Math. 9 (2) (1994) 88–94.

S.S. Dragomir, *Refinements of the Hermite–Hadamard integral inequality for log-convex functions*, RGMIA Res. Rep. Collect. 3 (4) (2000) 527–533.

M.E. Özdemir, A theorem on mappings with bounded derivatives with applications to quadrature rules and means, Appl. Math. Lett. 13 (2000) 19–25.

N. O. Bekar, H. G. Akdemir and İ. İşcan, On Strongly GA-convex functions and stochastic processes, AIP Conference Proceedings 1611, 363 (2014).

H. G. Akdemir, N.O. Bekar, and İ. İşcan, *On Preinvexity for Stochastic Processes*, Journal of the Turkish Statistical Association, in press.

S. Maden, M. Tomar and E. Set, *s-convex stochastic processes in the first sense*, Pure and Applied Mathematics Letters, in press.

E. Set, M. Tomar, and S. Maden, *Hermite Hadamard Type Inequalities for s-Convex Stochastic Processes in the Second Sense*, Turkish Journal of Analysis and Number Theory, vol. 2, no. 6 (2014): 202-207.

M. Tomar, E. Set, and S. Maden, *Hermite-Hadamard type inequalities for log-convex stochastic processes*, submitted.

D. Kotrys and K.Nikodem, *Quasiconvex stochastic processes and a separation theorem*, Aequationes Mathematicae July (2014) 1-8.

M. Z. Sarikaya and H. Yildiz, On Hermite-Hadamard-type inequalities strongly log-convex functions, submitted.